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WEST BENGAL STATE UNIVERSITY

B.A. Honours 1st Semester Examination, 2019

PHIACORO01T-PHILOSOPHY (CC1)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks. enfeF T 7E TG 79507 Tz I 1
Candidates should answer in their own words AT fred g I FET NHHNG I
©eF !

and adhere to the word limit as practicable.

All symbols are of usual significance.

Question No. 1 and 2 are compulsory. Answer any fwo from the rest
> W @AY TR & TR | SRR - 7fp e Ted e
1. Answer any five questions from the following:
ferfarfae -l #if5f 2o Twe s
) Who is the first natural philosopher in lonian School? What did he discover?
Wz FEmReE 2w dige wfag @ ¢ fofd o snfes srafe ¢
(b) ‘Man is the measure of all things’— State the significance of this statement.\ '
a1 frgg ~ifmio a1 fvre - Sfesfa siesid i W2
&) On what grounds Anaximenes called that air is the first principle of the world?\%\;_;//i"'
@1 IS MR A TS 51 SHRIA TR 2
(d) Being and not-being are identical — What is the inner meaning of this statement?
el @3 SpTel wfen - St srefiire wedl F ¢
(e) Distinction between knowledge and 61:‘)ini0n according to Plato.
CRTOIE WS T 6 fSN0ed T L) (s |
uy;‘

(f) What is knowledge? — According to Descartes. %yk[‘\ A

(g) What does Spinoza mean by dictum *Nature Naturata’? \5&/
8 egfe’ eice e 6 e ¢ % - L@t};

h) What are the three kinds of knowledge admitted by Spinoza? =
P F9S TP fon &l G F1F 9

) Is Leibnitz a pluralistic philosopher?
#Aizafae & s Iogm wfas ¢

() What is the distinction between Truths of reason and Truths of fact?
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(a) Give a short description of St. Augustine’s ‘City of God’.

(b) Explain briefly Aristotle’s doctrine of Form and Matter.

kc) Explain the criteria of truth as accepted by Descartes.

Answer any two questions from the following:
ot @-ceie ¢fo 2ivs Sex wies
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APTSLE TP (R TSI WAwe N Sieas=! el

(d) What are the characteristics of Leibnitz’s Monads?
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What according to Plato is knowledge proper? How does he argue against the
view that sense-perception is knowledge proper?

(RTR (© W 574 (F F 9 ‘ooress @ ~@I=a 93 754 (26! i TeEsai
FECTA O TEAIGH FER |

Discuss Descartes’ doctrine of substance. How does Spinoza develop Cartesian
dualism into monism?

@HSF FATSE WA T PoAe) [T (FRred (9odm (AlF SEedT Boare
T 9 |

What is God, according to Spinoza? Explain after Spinoza, the relation between
God and the World.

PRoigaiea WS 59 7 9 Poltea T SR 50ad @ TS FooRS 1A I

What does Leibnitz mean by principle of Pre-established Harmony? What is the
importance of this principle in his Metaphysics?
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5x2 =10
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WEST BENGAL STATE UNIVERSITY

B.A. Honours 1st Semester Examination, 2019

PHIACORO02T-PHILOSOPHY (CC2)

Time Allotted: 2 Hours Full Marks: 5(

The figures in the margin indicate full marks. e Fra g AN FT0 fca B
Candidates should answer in their own words ST e S TR FGI FHNNF N
and adhere to the word limit as practicable. Fe7 371

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5 =10
formferfis @-erel #f5fF evis Ted wes
What do you mean by product class?
@R @eet @I [ @R ¢
(,bf) What is meant by ‘argument form’? Give one exampl
I IR IS [ QARIY 2 96 Srizde w18 |
(¢) Symbolize the following:
OIS FA
(i) p,only ifgq.
p. (P 7fn q.
(ii) p is the sufficient condition of g.
p, g~ ARG S|
(d) What is the negation of a contingent statement form? Give reason for your
answer.
G& TS Feifes oI ey & 2R ¢ (OIWIF T8RR 70T & Wi |
(y Translate the fqllowing sentence into Boolean notation and then express it in
7 terms of Venn diagram:
All who are educated are not liberal
e e 39 PiPTe 2 IR (onbras LT apr FCie
R fifiFs e Triawe! T
(f) Why is truth tree method called a decision procedure?
TP P T o el o1afe w1 2 9 ;
(¢) What is “Indirect Proof” (I.P.)? /,@y%‘“
ATATT N S FIE T 2 /s
&
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2. Answer any two questions from the following: 5x2 =10

frsforfs -t 75 2w Tea wies

(a) What are the differences between material equivalence and logical equivalence? 5
g sTaiefel ¢ (@ifess sidfela wey idm el i o

(bY Determine whether the following statement forms are tautologous, self- 2 % X2

contradictory or contingent by means of truth table.

TSP TR AHA ARG Fws 37y, T eyt a1 wofes ot B wear
W) lp=>(g>p)=l@gog)o~(r>r)

(i) [(p-g)>r]=[p>(gor)]

(¢) Supposing that I and O propositions have existential import, how much of the 5
traditional square of opposition will remain? Explain.

B [ @R O IR ARG ©leol Bie TR F0eT e [y SR
OGS TIRE AFCI 9 I N

W Use the method of Indirect Proof (I.P.) to verify that the following statement is a 5
tautology.

I G TS AZIE (7Lls @W@W%zmu
[(ADB)-A]>B /

Answer any two questions from the following \\\f;yy \e,g\"(’i’ 15x2 =30

' . ~ ¥ L\
N forferie -l 7275 ervem Seame ==
\”"“‘/3. (a) Test the validity of the following arguments by Venn diagram indicating the 5+5

mood and figure of each of them:
T8 @ 37 Srard I e Feafm et conforas s Rl Fs

(1) Some children are not considerate, because all children are self-centered and
no self-centered person is considerate.

I (I e [eaos w3, T et R SIg-liss, SIF @ SRees afes
{45 73

(i1) Only teachers were present in the seminar. Some scholars were present in the
seminar. So, some scholars are teacher. \

@Frig PR G Geoifds foet) g siaare Gifimica Soifks fiet| s,
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(b) Test the validity of the following argument by truth table method: 5
TerAENe AR ke IfEha @ee Ruir st "
Uos(VvW)
V-Wyo~U
n~U

4. (a) Determine whether the following statement is tautologous by using truth-tree 3
method:

HopnR sfod e fAeare A oo & w1 fadf s
[A—>(B—>C)]-[(4—>B)—>(4->0)]
(b) Use truth tree method to test the validity of the following argument:
Topnl #mfs e 30 e eiba ee saw Fe
. A©B
W Ss

(i) We shall fish if it rains and swim if it does not. Therefore, we shall fish or
swim.
A Wy 499 T B 2W @R IR Ao FHCA1 T ©f [ 2| TSR AT AR 479
w31 eI FGCA

(c) Use truth tree method to determine whether the following propositions are 4
consistent:

TP “afoq A frare vaef rafosd i Ko s
A->C,B>C,-4,-A->-C

5. Construct formal proof of validity of any three from the following arguments 53 =15
(Do not use C.P. or .P.):

faRiRe @-@E faF e SiF@ers ([e! @i Tl (C.P. I 1.P. IR F41 TR
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@ Jv(J-K)
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(iv) If either Socrates was happily married or else he wasn’t, then Socrates was a
great philosopher. Therefore, Socrates was a great philosopher.
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(51/) Use the method of Indirect Proof to prove the validity of the following argument:
[T 2 o foq AR fHERS Pfeba tawet e s //gg’omf\
7 \
>

A>(B-C) / .

(BvD)SE ‘\(i
DvA/“E \\© A

8 . g;‘}”:/
(¢J Prove the invalidity of any one of the following argumen 1% method of
assigning truth values.
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(i) M>(NvO) PN
NS(PVO)
ODR
~(RVP) /. ~M

(ii) If John is intelligent and studies hard, then he will get good grade and will
pass the examination. If John studies hard but is not intelligent, then his effort
will be appreciated; and if his effort is appreciated then he will pass the
examination. If John is intelligent he will study hard. So, John will pass the
examination.
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